

Authorized Signature Farhad Ghorbani Fard

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-56321-67901c44b81cc VERIFY.FTGS.US Date : January 21, 2025

	VERIF 1.F 103.03 Date : January 21, 2025				
Seller (Exporter) Healthy Green Life Corporation	Transport Typ Vessel	De la	Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination C China	ountry	Destination F TianjinXinga		
	Export Date 2025-01-18		Exporting Ca N/A	rrier	
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit N/A	t Number	Bill of Lading 401410742		
INNER MONGOLIA, 011500 China	Owner or Age N/A	nt	Forwarding A N/A	Agent	
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560b Total: 662.91				
Description (May include notes on Quantity, Item Number, Marks and Number	ers, Kind of Packages	s.)	Weight	Country of Origin	
Alfalfa Hay Marks: EGSU9285750 52bales			21.455mt	United States	
Alfalfa Hay Marks: TGBU7897230 52bales Alfalfa Hay			21.673mt 22.09mt	United States United States	
Marks: EITU9118343 52bales Alfalfa Hay Marks: TGBU7154718 52bales			21.791mt	United States	
Alfalfa Hay Marks: EITU9278465 52bales			21.9mt	United States	
Alfalfa Hay Marks: TXGU5538342 52bales			21.963mt	United States	
Alfalfa Hay Marks: EITU9425381 52bales			22.934mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods origing applicable in the country(ies) to the The information in this certificate accurate, true and complete. The Applicant undertakes to advising Certificate (or to whom the Certificate (or to whom the Certificate) and the Certificate (or to any inaccuracy, omission or chanas). The Applicant will maintain, and p truth, accuracy and completeness in consideration for the GIC's issues. 	inate in the country(les) special ose goods. and in any documents provide le GIC and any other person(s) ate is provided to with the knc nge in such information, or in resent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap onnection with the issuance c made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and h of this certificate and to indemnify GIC in ion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-56321-67901c44b81cc **VERIFY.FTGS.US** Date: January 21, 2025

		Sandary 21, 202	
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel	Port of Loa LOS ANG	
43 Corporate Park Irvine CA USA	Destination Country China	Destination TianjinXin	
	Export Date 2025-01-18	Exporting C N/A	Carrier
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500	Import Permit Number N/A	Bill of Ladi 40141074	
China	Owner or Agent N/A	Forwarding N/A	Agent
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560bales Total: 662.910mt		
Description (May include notes on Quantity, Item Number, Marks and Num	bers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay Marks: EMCU1832240 52bales		22.462mt	United States
Alfalfa Hay Marks: EGHU9659080 52bales		22.19mt	United States
Alfalfa Hay Marks: EISU8528890 52bales		22.38mt	United States
Alfalfa Hay Marks: TLLU7654904 52bales		21.99mt	United States
Alfalfa Hay Marks: TGBU6994088 52bales		22.054mt	United States
Alfalfa Hay Marks: EGSU9275746 52bales		22.29mt	United States
Alfalfa Hay Marks: BSIU8025682 52bales		21.763mt	United States
Name of Authorized Trade Association	- The above-mentio applicable in the co - The information in accurate, true and c	he Applicant on behalf of the Consignor), by ned goods originate in the country(ies) spe untry(ies) to those goods. this certificate and in any documents prov complete. ertakes to advise GIC and any other person	cified above and comply with the rules of o ded to the Greater Irvine Chamber ("GIC") i

Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing

of any inaccuracy, omission or change in such information, or in the origin of goods. -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. -In consideration for the GICs issuance of this Certificate, the Applicant agrees to release, discharge and hold

harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number : GI-COO-56321-67901c44b81cc **VERIFY.FTGS.US** Date: January 21, 2025

	VEIIII 1.1 T	00.00	January 21, 2025	
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Ty Vessel	pe	Port of Load LOS ANGE	
Irvine CA USA	Destination C China	Country	Destination TianjinXing	
Consignee	Export Date 2025-01-18	3	Exporting Ca N/A	rrier
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permi N/A	it Number	Bill of Lading 401410742	g / AWB 592
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding A N/A	Agent
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560 Total: 662.9			
Description	•		Weight	Country of Origin
(May include notes on Quantity, Item Number, Marks and Nur Alfalfa Hay	nders, kind of Package	es.)	21.573mt	United States
Marks: EITU9212452 52bales				
Alfalfa Hay			21.228mt	United States
Marks: CAAU7492977 52bales				
Alfalfa Hay Marks: EMCU8412568 52bales			22.036mt	United States
Alfalfa Hay Marks: GCXU5326230 52bales			22.335mt	United States
Alfalfa Hay Marks: GCXU5330374 52bales			22.897mt	United States
Alfalfa Hay Marks: GAOU6950362 52bales			22.897mt	United States
Alfalfa Hay Marks: EGSU9688333 52bales			22.807mt	United States
Name of Authorized Trade Association	2	 The above-mentioned goods orig applicable in the country(ies) to ti -The information in this certificate accurate, true and complete. The Applicant undertakes to advi Certificate (or to whom the Certifi of any inaccuracy, omission or ch The Applicant will maintain, and truth, accuracy and completeness In consideration for the GICS issi 	jinate in the country(ies) speci rose goods. e and in any documents provid se GIC and any other person(s cate is provided to with the kn ange in such information, or in present upon request, such do of this certificate and accom Jance of this Certificate, the A connection with the issuance	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hol of this certificate and to indemnify GIC in tion herewith.



TO VALIDATE, GO TO Certificate Number : GI-COO-56321-67901c44b81cc VERIFY.FTGS.US Date : January 21, 2025

	VERIF1.F165.05 Date: January 21, 2025				
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	pe		Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA	Destination (China	Destination Country China		Destination Port TianjinXingang	
Consignee	Export Date 2025-01-18	3	Exporting Ca N/A	irrier	
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Perm N/A	it Number	Bill of Lading 401410742	g / AWB 592	
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding / N/A	Agent	
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560 Total: 662.9				
Description (May include notes on Quantity, Item Number, Marks and Num	bers Kind of Package		Weight	Country of Origin	
Alfalfa Hay			21.945mt	United States	
Marks: TCNU2162074 52bales Alfalfa Hay Marks: TCNU3170074 52bales			21.818mt	United States	
Alfalfa Hay			21.509mt	United States	
Marks: TXGU5506900 52bales Alfalfa Hay Marks: TXGU7452037 52bales			21.872mt	United States	
Alfalfa Hay Marks: EMCU8919260 52bales			22.09mt	United States	
Alfalfa Hay Marks: CAAU5752674 52bales			21.945mt	United States	
Alfalfa Hay Marks: TCNU1779647 52bales			21.773mt	United States	
Name of Authorized Trade Association	>	 The above-mentioned goods or applicable in the country(les) to The information in this certifica accurate, true and complete. The Applicant undertakes to ad Certificate (or to whom the Certi of any inaccuracy, omission or c The Applicant will maintain, and truth, accuracy and completenes In consideration for the GIC's is: 	iginate in the country(ies) speci those goods. te and in any documents provid- vise GIC and any other person(s ficate is provided to with the kn hange in such information, or in present upon request, such do is of this certificate and accomp suance of this Certificate, the A n connection with the issuance in ms made against GIC in connection	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and ho of this certificate and to indemnify GIC in tion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-56321-67901c44b81cc VERIFY.FTGS.US Date : January 21, 2025

	ATILLET		, , , , , , , , , , , , , , , , , , , ,			
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De	Port of Lo LOS ANC			
Irvine CA USA	Destination Country China		Destinatio TianjinXir			
Consignee	Export Date 2025-01-18		Exporting N/A	Exporting Carrier N/A		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500	Import Permi N/A	t Number	Bill of Lad 40141074	ing / AWB 42592		
China	Owner or Age N/A	ent	Forwardin N/A	g Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560t Total: 662.97	pales 10mt				
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	Kind of Package	s.)	Weight	Country of Origin		
Alfalfa Hay Marks: TRHU7853410 52bales			22.879mt	United States		
Alfalfa Hay			22.371mt	United States		
Marks: EGSU9685355 52bales						
end of products						
Name of Authorized Trade Association		 The above-mentioned goods origin applicable in the country(ies) to tho The information in this certificate a accurate, true and complete. The Applicant undertakes to adviss Certificate (or to whom the Certificat of any inaccuracy, omission or char The Applicant will maintain, and pr truth, accuracy and completeness of In consideration for the GIC's issue 	nate in the country(ies) sp se goods. and in any documents pro- e GIC and any other perso ate is provided to with the toge in such information, o sesent upon request, such of this certificate and acc, nice of this Certificate, th ponnection with the issuan made against GIC in com	documentation as is necessary to verify the ompanying documents. e Applicant agrees to release, discharge and hold ce of this certificate and to indemnify GIC in nection herewith.		

Booking Document - HayCloud.com

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI		CE			Invoice No. Date:	BH-202501002 10/17/24
Shipper/Exporter: Healthy Green Life 1152 S Roughcut D Casa Grande, AZ 85	Corp r			Consignee: INNER MONGOLIA E HUTONGTU VILLAGE SHENGLE TOWN, HELINGEER COUNTY INNER MONGOLIA		
Vessel:	EVER MILD			Contract No.:	BH-HGLC2024-7	
Voyage No.:	1382-002W			Booking No.:	401410742592	
Shipping Line:	Evergreen			Country of Origin:	USA	
Port of Loading:	LOS ANGEL	es, ca		Discharge:	TianjinXingang, China	
ETD:	1/18/25			ETA:	2/22/25	
Price Terms:	CIF					
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
DCII 100025 C00	00056040		50	21 702	¢205.00	to 500 a

Container No.	Seal #	Product	Bales	Net weight (MT)	Unit Price USD/IVIT	Amount (USD)
BSIU8025682	02856040	Alfalfa Supremi	52	21.763	\$395.00	\$8,596.39
CAAU5752674	02857131	Alfalfa Supremi	52	21.945	\$395.00	\$8,668.27
CAAU7492977	02856031	Alfalfa Supremi	52	21.228	\$395.00	\$8,385.06
EGHU9659080	02857034	Alfalfa Supremi	52	22.190	\$395.00	\$8,765.05
EGSU9275746	02856041	Alfalfa Supremi	52	22.290	\$395.00	\$8,804.55
EGSU9285750	02857170	Alfalfa Supremi	52	21.455	\$395.00	\$8,474.72
EGSU9685355	02857144	Alfalfa Supremi	52	22.371	\$395.00	\$8,836.55
EGSU9688333	02857123	Alfalfa Supremi	52	22.807	\$395.00	\$9,008.76
EISU8528890	02857033	Alfalfa Supremi	52	22.380	\$395.00	\$8,840.10
EITU9118343	02857164	Alfalfa Supremi	52	22.090	\$395.00	\$8,725.55
EITU9212452	02856032	Alfalfa Supremi	52	21.573	\$395.00	\$8,521.34
EITU9278465	02857160	Alfalfa Supremi	52	21.900	\$395.00	\$8,650.50
EITU9425381	02857151	Alfalfa Supremi	52	22.934	\$395.00	\$9,058.93
EMCU1832240	02857037	Alfalfa Supremi	52	22.462	\$395.00	\$8,872.49
EMCU8412568	02857041	Alfalfa Supremi	52	22.036	\$395.00	\$8,704.22
EMCU8919260	02857132	Alfalfa Supremi	52	22.090	\$395.00	\$8,725.55
GAOU6950362	02857129	Alfalfa Supremi	52	22.897	\$395.00	\$9,044.3
GCXU5326230	02857130	Alfalfa Supremi	52	22.335	\$395.00	\$8,822.33
GCXU5330374	02857122	Alfalfa Supremi	52	22.897	\$395.00	\$9,044.3 ⁻
TCNU1779647	02857141	Alfalfa Supremi	52	21.773	\$395.00	\$8,600.33
TCNU2162074	02857128	Alfalfa Supremi	52	21.945	\$395.00	\$8,668.27
TCNU3170074	02857136	Alfalfa Supremi	52	21.818	\$395.00	\$8,618.11
TGBU6994088	02857032	Alfalfa Supremi	52	22.054	\$395.00	\$8,711.33
TGBU7154718	02857159	Alfalfa Supremi	52	21.791	\$395.00	\$8,607.44
TGBU7897230	02857162	Alfalfa Supremi	52	21.673	\$395.00	\$8,560.83
TLLU7654904	028570 39	Alfalfa Supremi	52	21.990	\$395.00	\$8,686.05
ĨŔHIJ785341	02857143	Alfalfa Supremi	52	22.879	\$395.00	\$9,037.20
TXGU5506900	02857124	Attalfa Supremi	52	21.509	\$395.00	\$8,496.06

Booking Document - HayCloud.com

TXGU5538342	02857152	Alfalfa Supremi	52	21.963	\$395.00	\$8,675.39
TXGU7452037	02857139	Alfalfa Supremi	52	21.872	\$395.00	\$8,639.44
Total Value:			1,560	662.910		\$261,849.43

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



2025

